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 ����� ����!� �	��� �� ��	�"	�  ��"	� "�  �#�"	� $	���� 	� %&����� �� ��"� 	�

�����"	#"��� ����' ��&����()�� �*��"	 + ��	���� ����� 	���"	� ��	 �, ���"		  ���

��� ���� ������� ������� ��� �!��� �"�#��� ��"$%�

� � �	#	� � ��&��' ��� $	���� �
 "� ���� �� ����+��-"	,��+ "���$"� �*#	��	 + ��&-

��� +� .� ��)�� ����"	� ��&��� 	 	 �� ��$"�� ���+ "� �*&*��( ��!"�"	
� ��� �!�

!* &�
!�!�� !�/�"	#���	!	 �������"	�!	 ��&��� 	' �#	 �� �� ���	#	"� 	&��� "�
 	&

������	!�" ��

����&"� ���� 	 ��&��� + &�"��� !����+"�-"�&�-

0	�� 1���

�	�	!*! �����,�!� 0���!� �	! $	���� +' 2&�$�-

 �(3 !�$�� ���!� ������� �!	 4�	��"�� 1��5' ��	-

#�! "	$"�� "�����	$"�' � ���/"�� ��	$� �� �� ���-

��� +( V � 6�	$�"	� �#	 ��! �� �"��	��	!��� ��	

"�,��+�	/ ������ �/ 	 ��� � �#"�  �"��! &�&��� ���-

���	!�" ��� �	"�
"�( ���&+ �	�*  ��"	�' ��
� ��-

()�
 "� ���/"(( ���� 	"�' 	 ������ 	 V 7

F =
ηV S

h
. 41��5

���	 ��	 ��&�	#"*/ &"�#�"	�/ V, S, h �*���"�� �� &���" 41��5 � ��"	! 	  �! $� ��-

�88	�	�" �! η' � � ���88	�	�" 	 ,��� ��&��� +( ����!� �	���!�
 $	���� 	�

9���� $� �	�� ��
� ��� "� "	$"(( ���� 	"�' "� � � ���"� ��	$�"	�� 0�&�!�� ��'

� 	 �	�* : "� ���!�� �&�	!���
� �	� ���� 	"� %&-&� !���� 	 !�$!��������"*/ ���-

� ��"	
 ���� 	"* �&�	!���
� ��( #���& ��������� ��+"*� ���	 $	���� 	� .� �(,�


���
 ��
� ��� ���� �	� ±F ' ��	#�! ���/"�� "�������"� ��  �#�"	(' � "	$"�� : ���-

 	�� � ��&��+ � � ���
 ��	$� �� ,�& ������"	�� .	$"	� ���	  ����( �� ���/"	!	' �
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 ���/"	
 : ��	$�)�
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.� ���	#	"* V 	 h "� 	!�( �!*��� ��� ���	&���+"�
 ���"	�* ��&���� !�$��

����!	� <	���� +' ���!� ���/"�
 	 "	$"�
 �����/"�� �
' ���,)� "� �&�	!���
� ��� 

� ���� 	"�!	 42"� &"�� 3 �, 	/ ��)�� ����"		5� = "���"	� V/h ������ &�!�"	 + "�

�����+"�( /���� ��	� 	��  �#�"	�' � 	!�""� "� ���	&���"�( dVx/dy' 	!�()�( �!*��

��� �(,�
  �#�	 � $	���� 	� ��� �!� &���"  ��"	� "��� &��	�� + � �	��

F

S
= τ = η · dVx

dy
. 41��5

� ��	��""�! �*�� ���� �
��! ������� 	����� �	�*' ��
� ��()	� � �(,�
 ����-

��� 	' ��	"����*� >������ ��+"�' ���	&���"�� dVx/dy "� ���$"� &��	�� + � �����	-

"� * y� ? � �*���"�� ��  ��+�� ��	 �	"�
"�! ����������"		 x : ��!��"�" * ������ 	

$	���� 	7 Vx = V · y/h� �	�	!' # � �����+"*
 &���"  ��"	� 41��5 ��&���	� "�
 	 ���-

��� +  �#�"	� � �(,�! !�� ��

>	�� "� ��	"	�� ���)��	 τ 4��&!��"�� + ��� � �����"	�5 "�&*��� �� ��������� 

�! ������� � � �	#	� � �	�* �����"	� �	��  ��"	� "�������"� ����+ �����/"�� 	'

"� ��������� �� ��-���$"�!� �����	�!	 "� � �
 �����/"�� 	� ���88	�	�" η "�&*��-

� �� �	"�!	#����
 ��&��� +( $	���� 	' �� ��&!��"�� + � �	� �!� >% ��·� @ ��A4!·�5'
� �	� �!� >B> �A4�!·�5 @ ���&� C�� � 	����+&�� �� �	"�!� 	#����� ��&��� + ν = η/ρ

��&!��"�� 	 !2A� 4� >B> �!2A� @ � ���5� �  �,�	�� ��	����"� �	"�!� 	#����� ��&��� +

"��� ��*/ $	���� �
 	 ��&��/� ��	 ��&�	#"*/  �!���� ���/ � ��	"	��/ �!2A��

 �!���� ���' ◦D � �� �� E� 1� F� ���

���� �'��F �'��; �'�� �'��11 �'��� �'��E �'��;

��	���	" 1'F�

� � + �'���; �'���

��&��/4� � !5 �'�� �'��

��	 �� ◦> �	"�!	#����� ��&��� + ���* η = ρ · ν = 103 · 10−2 · 10−4 = 10−3 ��·�� ���	
���� 	"* 	!�( ���)��+ � !2' ���� ��"	� !�$�� "	!	 � !!' ������ + ���/"�
 ���-

� 	"* � !A�'  � �	��  ��"	� ���"� � . ≈ ��� B' ���	 � &�&��� "�/��	 �� ����' 	 �����

10−2 . ��� ��&��/��

���	 �"�#��� $	���� + ,*�� "�����	$"�
' � &� �! �"�&��"� ��	��� 	 ��"� 	& ���-

� 	" � ��	$�"	�'  �#�"	� �$� "� ,��� � ��	�"��"*!� �"�#��� ��	"� �� ���
' ��	����-

()	
 � ���� 	"�' &� �! �����()	
' 	  ��� =��"	! ���!�' &� �� ���� ��	�� � ��	$�"	�

���
  ��)	"* δ� ��&��� �	�� ��	��� ���( ������ + ������� V 7

ηV S

δ
· t ∼= ρδSV ⇒ δ ∼=

√
ηt

ρ
=

√
νt .

��$"� ���&� +' # � ���	�/��	 2�	88�&	� ������ 	3 � "�����	$"�( 	�/��"� $	�-

��� + 4� � �"����	� �$� � !�#����+ � �� ���5� 9�#�"	� ���  � �� �"��	 ��' ����� δ



1E ����� �� �������� � !"#$ ���"#�
�

��&��� � ��	!��"� �� h'  ��� #���& ���!� ������� h2/ν� 6�� ����!� ��""��� �*��

��	!��� ���!� �� �"����"	� ��� ��	 ����� � ��

0���!� �	! ,���� ���$"�� ������� ���"�#$� 4�GHH:�F1H5 �  ��,� 4�	�� 1��5� .�

�#�� ��  ��,* ��	"�
 L 	!�� �� ������� �����"	� ΔP ' �� ��*
 	 �*&*���  �#�"	��

���8	�+ ������ 	' �#��	�"�' �	!!� �	#�" � "��	-

0	�� 1���

 ��+"� ��	' ��� ������ + !���	!��+"�� �*���	! � $	�-

��� 	 �	�	"�� ���	��� y� ���  ����� ������ �	�� ���-

��"	� ΔP · πy2 	  ��!�&	 �	��  ��"	� : L · 2πyη · dV/dy�

� � ��	�"��"�!  �#�"		 � 	 �	�* ���"*7

dV

dy
= −ΔP

2Lη
· y , � ���� V = V0 − ΔP

4Lη
· y2 .

��	 y = R 4"� � �"��/5 ������ + �,��)�� �� � "��+'  �� # �

V0 =
ΔP

4Lη
· R2 , V =

ΔP

4Lη
· (R2 − y2). 41�;5

= !� 	!' # � "���&��� $	���� +  ���� ,* ,�& ����	�" � �����"	� 	 !���� ,* 	!� +

�(,�� ����������"	� ������ �
 �������  �#�"	��

0��/�� $	���� 	

Q =

R∫
0

V · 2πy · dy =
πΔPR4

8ηL
. 41�E5

>���"�� ������ + Q/πR2 ���"� �����	"� !���	!��+"�
 	 �������	�"��+"� ����	�" �

�����"	�� C���& ���	���� ���	��� 1 !!' ��	"�
 1 !' ��	 �������� �����"	� �'� � ! @

� ! ����"��� � ��,� ���� �� �#� �� ������ +( �'�� !A�' ��	 ���/��� E �!3/�� 9�#�"	�

���&�
�� 4���,�	����"� � �FE� ��5 ���,"� ��� 	&!���"	� ��&��� 	 �� 8��!��� 41�E5�

6����� ��$"�� 8��!��� : ��� �	�* ����� 	���"	�' ��
� ��()�
 "� ��� � ��&-

��
 $	���� 	 : ����#�"� > ����! 4�F�H:�H�;5 � �F�� �� �* ����"	#	!�� ���"��
 ��

������� ���	#	"*� ���	 ��� ���	��� R �, ���� �� $	���� +(' 	!�()�
 ������ + V

"� ,����"�#"�� 	'  � �,�	&	 �����/"�� 	 ���� �� �� ��""� �$	�� +' # � ���	&���"��

������ 	 dV/dr ≈ V/R� .����$�"	�  ��"	� τ ,��� 	!� + ������� ηV/R' � �	��  ��"	�

����#�� �� �!"�$�"	�! τ "� ���)��+ �����/"�� 	 ����7 F ≈ 4πηV R� I�	�	 ��+"�'

"� � � :  �#"�� 8��!��� ��� �	�*' ��&"	��()�
 	&-&� "����$�"	
  ��"	� "� �����/-

"�� 	� ���!�  ���' ��&��� + ��	���	 	 � ��&"	�� �����"	
 "� �����"�
 	 &��"�
 � �-

��"�/ ����� =��&*��� ��' # � �����"	� �"��	 ����� !�"+�	
 ����� � ����� 	���"	�

	 ���"#� ��+"� �	�� 	!�� �	�7

F = 6πηV R . 41��5

>���� 	���"	� ��� + �������	�"��+"� ������ 	�

������ ��	!�"	!�� + ����#�""*/ 8��!��J 
��!��� > ���� "� 	&  �/' �� ��*�

�*���"�( �� ������ 	 ��&��� �����,�
 � ,���	 + !� ���	#���	
 ���	� � ���� 	 ����-

"	 � "�,�(���!�( ������ + � �*#	���""�
� >������"	� "� ����#	 ��� >����� !�$"�



��%� &���� '
����()��� ��	�)��� �����*
	� 1�

���&� +' # � � "��� ��*!  ����! ��� �#�"+ ��&�	/ $	���� �
 !�$"� ����#	 + ���-

 ���$��"	� &���"� > ����� 
��!��� ���&�
�� �*���"�� �� 2���#�3� .� ��� $�' ���	

����	#	 + � "���! ��	!��� ���	��  ��,�	 �� � �!' !* "� ����#	! ������ 	 ��� !A��

��& '�%�" ��!�"�()%�� ����)"$% ����#*���

����( ��&��� + "��� �#	 � + ��� � �#"� ,��+��
 ��� �*���"�"	� &���"� > ����J

>	��  ��"	� ���$"� ,* + ��"��"�
 �	��
 �  �#�"		 	 ����*�� + �	����	"�!	#���	


"����' �� ��*
 	!�� ������� ρV 2� = "���"	� �	����	"�!	#������ "����� � ��&��!�

"����$�"	(
ρV 2L

ηV
=

ρV L

η
=

V · L
ν

≡ KL 41�15

"�&*��� �� ��%$&! ��#�&$'(%� 4�FE�:�H��5� M��+��
 ������ �#	 � + ��&��� +' ��	

�� ���
 KL � 1� ���	 $� KL ���	��' ��&�	� �	�* "���)�� ��""*'  ��� ��&��� + !�-

��� 0�&!�� L' �/���)	
 � #	��� 0�
"��+���' /���� ���" ���  �#�"	� 4�	�!� � ����'

 ��,*' ��	"� ��*�� 	  ���5�

>�����! "�����+�� ���"��� ���	 #������ ����� ��	 � �� � �		 �� �� �� ������ +(

�'� !A�'  � #	��� 0�
"��+��� ���·50/0,15 = 5 · 104� ������#"*
 ��&!��' ��)�� ��""*


��� �, ���"	�' ��	"� ���"*! �� �!� ����� ��$��' ����()�� �� ������ +( �� !A�'

	!�� KL = 2 · 103N � ��� ���*' !����""� �* ���()�� 	& ���"�' : ����� ��3N #	���

0�
"��+��� �����	�!"*/ �*, ���"� ��3 : ��4�

6�$� "�,��+�	�  ���' �, ����!*� � !���
 ������ +(' 	!�( �#�"+ ,��+�	� #	���

0�
"��+���' "� ������ �$� � ����,��/ 	 ��!��� �/� ��&�	� �	�* ��# 	 ������ ���$"*

,* + ���"�,��$	!� !��*� ��&����+ ,*' � �(�� ���!� ������ ��	���"�� + ��# 	 "�

��� ���#�	 $	&"	 !����	 	����+"�
 $	���� 	� .� ����+"�� + ���&*��� �� ���$"��'

# � /����� �	�"� "� &���#� � ����� 	���"		  ��� .� ����*
 �&����' ������ �$	�� +'

# � �	�� ����� 	���"	� � �� ��� 	����+"�
 $	���� 	 ,��� ������� ρV 2S/2 : ���	&-

����"	� �	"�!	#������ "����� "� ���)��+ ������#"��� ��#�"	�� 0���!� �	!' ��"���'

���' �, ����!*
 	����+"�
 $	���� +(�

0	�� 1�;�

%& �	!!� �	#"�
 ��� 	"* �	"	
  ��� "� �	��"�� 1�;'� �	�"�' # � �  �#��/ O 	

P ������ 	 ��	"����* 	' ������� ��+"�' ��	"����* �����"	� 4&���" M��"���	5� .�

 ���� "� ��� � 	����+"�
 $	���� 	 �� �� "� ��
� ��� � >	�� ����� 	���"	� ���"�



11 ����� �� �������� � !"#$ ���"#�
�

"��(Q ? � �*��� : ����(&)% ��$�!*��� 4�G�G:�GF;5 : ��������	� ���  ��� �(,�


8��!*� ��	 ��	$�"		  ��� � ��� ��""�
 ������ +( �"���	�  �#�"	� "� !�"�� ��'  ��

# � ��,� � �	�* ����� 	���"	� FV t ���"� "��( 	 F = 0�

M����  �#"*! ,��� � ���$��"	�' # � 	����+"�� $	���� + !&��� �, ��� +  ���

,�& ����� 	���"	�� ? � "� &"�#	 ' ��"���' # � �"� &*�"���  ��  �#+ 	 # � � 	����+-

"�
 $	���� 	 ����� 	���"	� "����!�""� ���"� "��(� .���	!��' $	���� + !�$� � -

�*�� +�� "� &��"�
 ���!��  ���' �,��&�� ����� + 4���	 ��	�""�� �, ���"	�' �	��"��

1�;',5� 9���� "� ,��� �	!!� �		 � ����������"		 �����"	�' ������+�� �&��	 $	���� +

"�  ��!�&	 ��' 	 ����	 �� &"�#	 ��+"�� ����� 	���"	���

������ �  �!' ����� ��� 	"� �, ���"	� ��� �� � ��� ����+"�� 	� =��&*��� ��' # �

����� "� ������ + �, ���"	�' ,�	&��� � 2����!,�������!�3 	 ��� �� � ��()�� ����-

 	#���	 ���"�
 ��!��"���		 �	����	"�!	#���	/ "������� %!�""� ��� �!� ��������

6���!,��� 	 &����$	��� �"	!�"	��

0	�� 1�E�

���	 #	��� 0�
"��+��� ��� ����+"�
 $	���� 	 ���	��'  ��� ��&��� + 	�#�&�()�

!���'  � ���$"� ,* + !���
 4���$�!' ������� � ������
5 �	�� ����� 	���"	�� ? �

�������""� "� �������� �� � ���� 	��
� >���� 	���"	� ����&�� ,��+��' !�"�� �� 	

��� 	"�  �#�"	�� = �� �� !�$"� ���� � +�� &� ����! &��"	�� .� 	����+"�� $	���� +

�,�&�"� �, ��� + ����� � �	�' 	 &� ����! ������ + �� �� ���$"� ����	#	 +��Q

.� �	��"�� 1�E ��	����" ������	!�" ��+"*
 ���8	� ����� 	���"	� ����� � &��	-

�	!�� 	 � #	��� 0�
"��+���' �*#	���""��� �� �	�!� �� ����� �� ��� 	���+"�
 ��	

������ ����� 	 �
��
� ��
��� �
�
����� ��
����� ���
 �������	����� ���	���� ��� ����������


	������ ���
� ��
 �
	�
 μW � �
� W � ���������� 
 μ � ������
�����
� �
��
� �����
� ����
�
 �
��

�
�
 � ��	�� ����	��
� �
��� 	���������� ��
������ ���	� �� ���
!�� ��"

�� �
 ��	��������

	����� ����� �� #�����$ �
 !������%������ 	����	�� �������	����� 	 �
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���T�!"�� �	�� 4���5  ��� $� ��!��� � ����� H� 9' "� � ! ��*�� ��	/��	 �� �����

; 9� �� 8��!��� <��������� 4�FEG:�H��5' ����#�""�
 � �H�E ��' ���T�!"�� �	��

Fy = ρV Γ , 41���5

��� Γ =
∮

(0 · d1) : /��)�$�/�� ������ ��*��' � 	" ����� ,��� �� �� ��" ���' �/��-

 *��()�!� ��*��� ��� ��&"	���  ���� &��	�	!�� +J ��� ��*��! �����"	� ���$"�

,* + ,��+�� 	' &"�#	 ' ������ + !�"+��� 6��  �"���� ��*�� 4�	��"�� 1���5 !�$"� �#	-

 � +' # � "� ��"��"�
 �� �� �� ������ +( V "�����*��� �� �����"	 ��+"�� ������ +

+u ����/� 	 −u �"	&� ��*��� 0�&"�� + �����"	


ρ

2
· ((V + u)2 − (V − u)2) = 2ρV u ,

� ���T�!"�� �	�� ρV · 2uL "� ��	"	�� ��	"*� ���	&����"	� 2uL 	 ,��� �	������	�


Γ ������ ��*���

0	�� 1���� 0	�� 1����


��!��� <��������� "� �����$	 ��&��� 	' � 	����+"�
 $	���� 	 �	������	� !�-

$� ,* + �(,�
� .� ��!�! ���� Γ ��� + ��������� �� ������"	�! �����"	#"��� �����



G� ����� �� �������� � !"#$ ���"#�
�

X	������	� �� �"���	��� ��  ���
' # �,* �����"	#"*� ���	 � �,�	/ � ���" ��*��

�/��	�	 � �� ��
 &��"�
 ���!�	 4�	��"�� 1���'�5� =, ���"	� � ����	! �������$�"	�!

 �#�	 �/��� 4�	��"�� 1���',5 "��� �
#	��'  �� ��� "� ���!�� ������ + ,��� ���	��' �

����� $	���� +' ��	,�	$���+ �  �#�� �/���' ,���  ��!�&	 +��� 9�� $� ��� ��	 �, �-

��"		 �*�������  ���' ����!� ��""�! � �� 1�;' � ���� ��&��+( �� �� ��#"*�  �#�"	�'

	 �" � ���� ��� � ��&��+ � �  �#�"	� ����� ��	 �� 	  �#�� �� ��#	 ����� ������	"� ��

"� ���!��� 6�� !��*/ ����� 	  �"�	/ ��*�+��  ���� 	#����� ���T�!"�� �	��

Fy = 2π · sin α · ρV 2

2
· L ,

 ��� Γ = πV L · sin α' ��� α @ ���� � ��	� .� �*�� � �� �! ��� 9I-��E ����#��! α = 6◦�

���88	�	�" ���T�!"�
 �	�* Cy = 2π·sin α = 0,6� = "���"	� Cy/Cf ' � "���! ��	!���

������� ��' "�&*��� �� ���&(���!���%)�! )���%�,&! 	 ����&*��� ' �� ����+�� ��&

��� ��!��� � !�$� ������/��	 +  ��� ��	�� ���
�

= ���*��� �����"	#"*
 ���
' !�$"� ��,	 +�� ��� !���
  ��)	"* "� ���! ��*-

��� 6�� � �#"�  �"�	
 ���
 ,��� ��!	"��"*! 	' &"�#	 ' ��&��()	! !����  ��"	��

��	 � �! ��"����!�""� ����� ���)�� �� � �*�� �� ���"��!' �������"	� �����"	#"*!

����! �"	&	 ����� 	���"	� 	 ����	#	 ���+"�� + ���� � "� ;�Y� ����  ��	� 	��	 "�

�"����( �� 	&-&� ����	#�"	� ���$"�� 	 ��"� ����		�

��1 �"�/�$2�� � ��.�".���)���

��� ����&�"� � �� ���' ��	 "��	#		 ��&"�� 	  �!���� �� ��&"	��� �� ��  ����� ?"��-

�	�' ���/���)�� #���& ��	"	#"�( ���)���� � ��	"	�� ���!�"	

q = −κ
dT

dx
.

�	� � �
 &��	�	!�� 	 "���!	"�� &���" ��&����  ��"	�� ���88	�	�"  ����������-

"�� 	' 	�	 ���� �  ����������"�� +' 	!�� ��&!��"�� + �"���	�A4�! ���� �5� �	��	#

	!�� κ = 0,5 ����A4! #�� ����5 @ 0,6 � A4! ����5� %& ��!"� *' #���& � �"� ���)��+(

�� !2 � ��� �	��	#� 40,5 !5 ��	 ��������  �!���� �� �� � �/��	 "� ��	�� 1�� 6$

��$��( ����"��N  ��,�� �� !�)"�� + 1�� � ��� �,������� ���	 �	��	#	 ����� + 	&

!��	' ��"���,	 �� !�)"�� + � 11� ��& ,��+��� 4κ = 400 � A4! ����55� I ���* κ = 0,6

� A4! ����5' � ��&��/� 0,027 � A4! ����5� =���$�()�� "�� ����� 	!�� !���(  ����-

������"�� +�

��� ������� ��"�� ��  ���� � �����J .�����! � ��$�"+ ��#�"	�! � �!2 � ��"�


� ���"* "� ΔT � S� ���!� t ���"� ���
�� ���� ��"	� L� 9������
 �� �� q ∼ κΔT/L�

9���� qt ������� ��"�� �� �� � �!� �#�� ��7 qt ∼ CLΔT � ����#��! L2 ∼ κt/(ρC) 4ρ :

��� "�� +' C : ����+"��  �����!��� +5� ���	#	"� χ = κ/(ρC) "�&*��� �� ��!������ 

�&��&,&(�&%�'2 	 	!��  � $� ��&!��"�� + 4!2A�5' # � 	 �	"�!� 	#����� ��&��� +�



��0� "���
�1�� � �
.��.
	
)��� G;

6�� ��&�� χ � ν'  �� ��� 	  ����' 	 	!���+� ����"��� �� �!�� � � !�������!	� = "�-

��"	� ν/χ "�&*��( #	���! ���"� �� Z[� 6�� ���* Z[ @ G' ��� $	��	/ !� ����� Z[

∼ 0,01� 6�� ��&��/� χ = 0,2 �!2A��

6���� 	!' # � ����� ��� *
 #������ �*��� "� !���& −23,4 ◦D� 6���� 	!' # � ���-

�	�"  �!���� ��* ,��� ������� ; �A�!'  ��� 1� � "� �� �! : /���� ��"�! ��&!���'

"� �� ���! ���$"� !�"� +��  �!���� ��� ��&��/�� 9���� � � !2' ���)��	  �����,!�-

"�' ,��� �/��	 + ����� �� � � C���& ��"� � ���
"*!	 ��!�!	 ���)��+( � !2 !�$"�

�$	�� + � �#�	 � ;� � � ? 	 ���"�	 ��"� "����"*� S	!�
 !�$"� &�!��&"� +' � #���&

��"� �*/��	 ����&�� ,��+��  ����' 	"�#� � "���! ��	!� � �����	 ,* ��"� �� ��(

� �"��� 6����' ���
 ��&��/� � �� �! ���$�" �������� +�� &� ���!� ���� � : � � "	���

"� ��/�$� "� ���!� �� �"����"	�  �����,!�"� #������� � ����$�()�
 �����
� �"�-

���	#"� ���������! !���
 ��&��� 	 !* "�,�(���! �������� !���
  ����������"�� 	7

����+"*
  �����,!�" ����&�� ,��+���

������#�  ���� #���& ��&* 	 $	���� 	 ��&!�$"� � ��"��"�! �� �! ��"����		� >"�-

#��� ����!� �	! ,.���(����2 )&�,�)/�2 ��	 �, ���"		  ��� �� ���! � �����


 �!���� ���
' � �	#�()�
�� "� ΔT � 6�� ��&��' � �� ��*/ ��&��� + 	  ����������-

"�� +' �� �� 	' ��	" 	  � $� �������' χ � ν' � ���,�""�� 	 �#��	�"�' # �  ���� ��	

�, ���"		 ������� �� #���& �����"	#"*
 ���
� ��� !���� ��&��� + ���&*��� ��  ��+��

�,�	&	  ���'  �� 	  �!���� ��� � �� ��� !�"�� �� � �������/  �!���� ��"��� �����-

"	#"��� �����

���!� t ��" �� � #�� 	�* $	���� 	 �  ���! ������� L/V ' 	 ������� ������ +��

���
'  ��)	"� �� �����

δ � √
χt � √

νt ≈ L ·
√

ν

LV
=

L√
KL

.

��� �!� ����	�"  �!���� ��* 	  ������
 �� �� �	�+"� ����	#	��( ��7

q = −κ
dT

dx
∼ κ

ΔT

δ
.

6�� ��!	"��"��� ���� ����	#�"	� ,��� �
√
KL ��&� ���	 #������ �,����� �� /����"*!

�� ��! �� ������ +( � !A�'  � KL @ 6·104' 	 �!�� � �� � ����#��!  ����� ��#� ����� 2,5

�� ' # � �$� ��/�$� "� ������� %&,�$� + &�!��&�"	� ��!���� ���$��' � ����/ �� ���


��&��/ "� ��	$� ��' 	  ��	! �,��&�! 	����+&�� �� ��� !����  ����������"�� +�

� $	��	/ !� ����/ ��&��� + ��������� �� ��	$�"	�! � �!��' � ����"��  ���� :

����	!	 ���� ��"�!	' ��� �!� 	/  ����������"�� + "��������	�"��+"� ���	��'  ��-

����
 �����"	#"*
 ���
 ��	!��"� "� �������  ��)� �	"�!	#�������

�  ��,���" "�! �����"	#"�! ���� ��� ��&�� /����� �*���"�� �� �����!�	�	#�-

���� &��	�	!�� +7

q = −κ
ΔT

L
· 0,037KL0,8 .

�)���%��� ����

 �� �
� �
" 
��
$�� � ���
�	�����	�$ ����*�	�



GE ����� �� �������� � !"#$ ���"#�
�

� � �! ���#�� �$� "��+&� ���"	 + q ��� κΔT/δ : #���&  ��)	"�  ��,���" "��� �����

��	  ��,���" "�� 	  ����������#� � �"��	 �� �)� ,���� 	" �"�	�"�
 	&-&� ������#"�-

�� ��	$�"	� ���!�" �� �� ��� 	 ����!��	��"	�� 9� $�' �� � 	' � "��	 �� 	 � 8��!���

 ��"	��

��	 %�!&%�&���$'�&# )&�,�)/�� ��!� ��	$�"	� �*&��"� ��������!  �!���� ���

��� + ��� 	���+"�� � �"�� "� ΔT  ����� ����$�()��� ��&��/�� >��
 �,�	&	 � �"�	

 ��$� "������� �� 	 ����	��� ��N 	&!�"�"	� ��� ��� "�� 	 Δρ ���"� ρβΔT ' ��� β :

���88	�	�" �,T�!"��� ����	��"	�� ��&"	��� �* ���	��()�� �	���

0�&"�� + �����"	
 ΔP = Δρgh ��	 !���
 ��&��� 	' ��� ������' ������� ρV 2' � -

���� ������ + � "���� �! ���� V � √
βΔTgh� C	��� 0�
"��+���' �*#	���""�� �� �*-

�� � � �"�	' KL � √
βΔTgh3/ν2� ���	#	"� ��� ���"�! "�&*��( #	���! B�����8� \[�

.���,"�� + � "���! ,�&��&!��"�! #	��� ����	���+ �� �!�' # � ��"����	� ��&"	��-

�  ��+�� ��	 ��������""�! ��������  �!���� ��' 	 #	��� 0�
"��+��� !�$� "� 	!� +

�!*���� ��	  �����,!�"� � ��	 ��+"�
 ,� ���	 � ��&��/�! � ��!"� � β = 1/T ≈ 1/300'

ΔT = 30 ]' h = 0,5 !' \[ = 5 ·108' KL = 2 ·104'  ���  �#�"	� � �����"	#"�! ���� ��!	"��-

"��� 9��)	"� ���� h/
√
KL = 3,5 !!� C���& � �  �"�	
 ���
 	 ���	�/��	  ����� ��#�

4	"�#� ,� ���� ,*�� ,* "��88�� 	�"�5�

.���� *
 ��&��/ ���"	!�� �� ����/ 	 ��&��� ��� ��""�( �	������	( � ��!"� �'

����!��	����+ ����� � /����"*!	 �,T�!�!	 	  �� ��������� 	!  ����� �"����	#"�

���	�/��	 �"��  ���� #���& ���
"*� ��!*7 ��"��"�� 	&!�"�"	�  �!���� ��* ��	/�-

�	 �� "� ��� �����"	#"*/ ���� "� �"� ��""�! 	 "���$"�! � ����/'  ��� �88�� 	�"��

 ��)	"�  ����	&����		 "����	��� ��  �! $� ��	#	"�! &	!�
 /����"� ��$� ��	 ���-

"�! ,�&�� �		7 ������ + ��"��� 	�"���  �#�"	� ,��� ������� � !A��

���	 ���
 $	���� 	  ��)	"* h ���������� �� �"	&�' ��"����	� ��&"	��� ��	 ����-

�		 40���
' �H�1 ��5

\[ · Z[ =
gβΔTh3

νχ
> 1700 .

��"� + � � "��$	��""� ,��+��( �	8�� !�$"� 	&  ��	/ ���,��$�"	
� ��	 �,*#"�!

�, ���"		  ��� ��� KL ∼ 1 ��$� 	!�()���� ��	$�"	� ���	 �� ��&��� +( 4 �#�"	�

> ����5� ��� �!� �$	�� + ��&"	�"���"	� ��"����		 � KL ∼ 1 "� ��	/��	 ��7 ��&��� +

��	���! ���	��' �	,� "�/�� �� ��������  �!���� ��� C	��� 0�
"��+���' ��� �� � ��-

()�� "�#��� ��"����		' �������
√

1700 ≈ 40� .� ��	 �, ���"		 ��� ��& ��	 KL � �	���-

&�"� "�����+�	/ ���� ��� "�,�(��� �� ���	��	#���	
 � �*� �	/��
 �  ��� 4����$��

��̂�!�"�' � �� ���
 ���&�"�' "���	!��' ����"	� �������� ��	 �� ��5'  ��� ��&,�$��( ��

� ��	#"*�  �#�"	��

��	 "�,��+��! ����*��"		 �����	� 0���� ��&"	��( ��"��� 	�"*� ���#)� 3� 

����' 	!�()	� 8��!� ��# 	 ����	�+"*/ ��� 	����+"	���' ��	#�! $	���� + ����*-

��� � ��" �� 	 ������� �� �� ����!� ���� ����! � �! ��	 �� ◦D 4β = 1,8 · 10−4 �A�5

!�$� ,* + "���� � �"	&� "� ,���� #�! "� 0,15 ◦D ,�& ��"����		� � "�����!�� 	 ���
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)��� G�

 �����,!�"� "��,/��	!� �*"�$��""�� ��"����	� 4����	��+"*� ��" 	�� ��*5� � ���	-

� */ !� ��	���/ ��"����	� ������)�� �� ��	 !	��	!� ���*/ ��&!���/ ����

� $	&"	 �#�"+ ��$"� ��!&%4����� )&�,�)/��� M��+�	� !��� �,*  ��,�( �#�-

 � �$	!��!�� 	� ��� + >��"�� "������� �����/"�� + S�!�	'  �� # � "	$"	� ���	 ��&-

��/�  ����� ���/"	/' 	!�()	/  �!���� ��� T0' "� ΔT � ���"	!���+ ����/' �,T�! ��&�

��	�,� 	#���	 �/��$��� �� 	&-&� ����"	� �����"	�N "� �*�� � h

T = (T0 + ΔT ) ·
(

p0 − ρgh

p0

)γ−1
γ

.

S���+ ρ : ����"�� ��� "�� + ��&��/� � � ��,� �*�� �
 h� ���	  �!���� ��� T �*��'

#�! 2&���""��3 T0 "� �*�� � h' ���"���	
�� �,T�! ,��� ���#� ����$�()��� ��&��/�'

# � &�� ��	 �����
 �,T�! ���� 	 +�� �"	&� >#	 �� h 	 ΔT !��*!	' ����#��!

ΔT

T0
>

γ − 1

γ

ρgh

p0
, 	�	

ΔT

T0
>

γ − 1

γ

μg

R
.

6�� ��&��/� γ = 1,4N μ = 30 �A!��+ 	 ��	 	#���	
 ����	�"  �!���� ��* ,��� 

�� ����A�!� 9��	� �����	� ��&"	��( #�� �� > ��	  ������ ���$"��� ��&��/� �����

�����&"� + �� �,����!' �	��)	! "� 	/ ����	"�/� 4��	 ��	�,� 	#����! ����"		  �!-

���� ��* "� "��� ���
 �*�� � "�#	"�� �� ��"��"���	� ����' ���"� ��� �!�� � � ��&��-

/�! � �����/"�� 	5� ��"����	� � >��"�� ������� ��"�� �� � �����/"�� 	 ��	!��"� ��

�����	"* ���	���' # � �,T��"�� ��&"	�"���"	� �� �"' ��� �,���"��� 	  ���' ��	#�!

��$"�( ���+ 	���� !��"	 "�� �����

��"����	� ��������� �	"�!	�� &�!"�
 � !��8��* � ����!� ��&��/ ���"	!�� -

�� "� ���� ��� 	 ������� �� � ����"	/ �	�� �/� � ��&��+ � � ��&"	��� �	������	��

����+ �����/"�� 	 S�!�	 � ���� ��� ��( ��� ��""*� �� �* : ����� *' �� ��*� ���-

)�"	�! S�!�	 4�	��
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